Show What Yo KNl

NWEA PRIMARY MATH

Here's a MEGA set of quick question cards based on
NWEA MAP Testing RIT Bands Hli-2M

Our schoo! participates in NWEA MAP Testing
three times per year (Fall baseline, then Winter and
Spring growth). Based on nationa! norms, students enter
first grade in the mid 150's for Math and Reading and
grow to late 170’s by spring. Although those number are

ty the national averages, a student may experience test
questions at higher/lower RIT band levels at various

times during the computerized assessment.

3 Your schoo!l doesn't participate in NWEA Map Testing?
No probleml| The entire fest is aligned with Common
Core State Standards.

These cards would be helpful to activate prior knowledge
at the beginning of a lesson, as a check for understanding

during guided practice, and as an exit ticket follow-up.

I also repeat cards for spiral review..they are used with

student teachers and/or volunteers, during hallway transitions..

I use them everywherel

I hope you find them very helpfull
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Show What Yeu Knewl
; / 7 NWEA PRIMARY READING QUICK QUESTION CARDS
Show What Yeu Knew)
NWEA PRIMARY MATH RIT BAND RANGE = OF CARDS

%ﬁ >130 4

I print out one set of cards and use book rings to .%5 131-40 20
create several portable sets. These quick question card rings § M4I-150 75

are on-the-go as much as our students arel

151-160 120+

There are also several skills that appear at different RIT bands. g 161-170 120
When this occurred, I recorded the lower RIT range. 171-180 40s

I would rather have my students more prepared, than less!

Cﬁf 181-190 15+

All of these cards have been student tested and approved! 190+ Se

I'm sure that I'll be adding more, especially as my
students master them © [« ' )
Show What Yeu Knetwl
If you do not want to cut out the cards to use on a book ring, C:g‘) NWEA PRIMARY MATH QUICK QUESTION CARDS
another ideas is to use these half-pages in o math journal.
I've even printed the pages and sent them home for extra practicel RIT BAND RANGE » OF CARDS

e — :g m-130 5+
[ 131-140 65+
. Z HI-150 150+
= = I51-160 140+
§ 16i-170 55+
171-180 35+
: & 181-190 20+

19i+ 10+




How many shapes have Y sides and 4 corners?
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How many flat shapes do you see?

9 O

U
A

@ @
o 2 3 Y ) & 3 2 Y
- -
& &
How many flat shapes do you see? How many solid shapes do you see?
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How many cubes do you see? How many cylinders do you see?
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How many cones do you see?
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Look at these shapes.
What is the name of these shapes?

Look at these shapes.
What is the name of these shapes?

O
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o
S hexagon square triangle | rectangle § rectangle | octagon | hexagon | rhombus
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o= 9 E 11
Look at these shapes. Look at these shapes.
What is the name of these shapes? What is the name of these shapes?
B s
= triangle | rhombus | rectangle | square = rhombus | rectangle | square hexagon
= 10 = 12
Look at these shapes. Look at these shapes.
What is the name of these shapes? What is the name of these shapes?
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8 triangle circle rectangle | square E circle triangle square ball
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Look at these shapes. Look at these shapes.
What is the name of these shapes? What is the name of these shapes?
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B rectangle | triangle square octagon - square | rhombus box rectangle
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How many corners does a circle have?

How many of these shapes have exactly 3 corners?
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How many corners does a friangle have? How many of these shapes have exactly Y corners?
o
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Which shape has more corners? Which shape has less corners?
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Which shape has more sides? Which shape has less sides?
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Put two triangles together.

What new shape can you make?

N N

What is the name of the shape
that has 3 corners?

square
triangle
circle
rectangle
8 B
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Put two squares fogether. What is the name of the shape
What shape can you make? that has no corners?
circle
rectangle
square
o
2 © triangle
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What is the name of the shape What is the name of the shape
that has 6 sides? that has Y sides?
rectangle triangle
hexagon rectangle
triangle hexagon
3 octagon 3 octagon
] o
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as 28 o 31
What is the name of the shape What shape has 8 corners?
that has 3 sides?
triangle hexagon
square rectangle
hexagon octagon
(o}
% circle 2 triangle
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What shape has 2 long sides
and 2 short sides?

Which is true about a circle?

square
triangle
rectangle It has O corners.
hexagon It has | corner.
8 2
B @ It has 3 corners.
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What is the name of the shape Which is true about a triangle?
that has Y equal sides?
triangle
square It has O corners.
hexagon It has | corner.
8 circle 8
B B It has 3 corners.
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How are these shapes dlike? Which statement is not true?
They are round and have H corners. They are both flat shapes.
They are round and have no corners. They both have four corners.
fe] (o]
© S
B They have Y sides and have Y corners. B They both have lines and corners.
E 37 E 38
How are these shapes alike? Which statement is true?
They are square and have Y corners. They are both flat shapes.
o They are square and have 2 corners. o They are both solid shapes.
© 8
:?_: They have square and have no corners. = They both have lines and corners.
aad
= 38 &

40




What is the name of this solid shape? What is the name of this solid shape?
\\- “‘
3 3
& cone | pyramid | cylinder | cube & triangle | pyramid | cone sphere
E a1 E 43
What is the name of this solid shape? What is the name of this solid shape?
2 3
o circle cube cone sphere & | square cube |rectangle| cylinder
E 42 E 44
What is the name of this solid shape? Which figure has more than Y faces?
3 e
oy sphere | pyramid | rectangular | trjangle <
— prism —
& 45 = 47
What is the name of this solid shape? Which figure has less than Y faces?
g g | ~—
% | rectangular cube pyramid | rectangle <
— prism —
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What is to the left of the house? What is above the house?
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What is to the right of the house? What is under the house?

RIT 15i-160

RIT M7
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The boy is the free. The boy is the box.

in front of behind in front of behind

RIT 131-140

RIT H1-120
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The boy is the tree. The boy is the box.

RIT I38

beside above inside outside

RIT 3I-140
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What shape is below the circle?

Candy Corn

Mom é é = | candy corn
= BIB[A] | rene
? candy corns
km ) AL S did Dad eat?
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What shape is above the triangle? Crayons
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/ / // =1 crayon
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Insects ]
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How many worms 2
worm Qﬁ are there? s How many more
- —'g books did Zac
fly §§‘) zg read than Jim?
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Penguins u—
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How many ®
penguins in all? s How many more
_g* grapes did Max
£ eat than Ben?
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Favorite Sport

Favorite Colors

Number of Number of
Sporf Students Color Students
@ 5 Which sport is red 6 How many
liked by more students
@ 4 students? blue 4 like blue?
@ 6 green 5
2 8
: P & : [y 5 | 6 | I5
o o
P 65 = 67
Favorite Food
" P Pet Number of
umber o S d
Food Students fudents
8 Which food is & S Which pet do the
liked by more c@, 2 students like
6 students? = the least?
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5 According to the ruler, which line
According to the ruler, which line is 5 inches long® is more than 8 inches long?
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According to the ruler, which line
According to the ruler, which line is 3 inches long? is less than 7 inches long?
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Which is warmer?
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Which animadl is larger?
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Which is colder? Which animal is smaller?
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Select the longest object. Select the shortest object.
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Select the longest object. Select the longest object.
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Select the tallest object.

o

Which holds the most?
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Select the shortest object. Which holds the least?
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Which is heavier?
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Which too!l would you use to
Which is lighter? Y
measure the length of a
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Which object would be the lightest?

Circle the objects that you grow in a garden.
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Which object would be the heaviest? Circle the objects that you would use at school.
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Circle the object that is different from others. Select the box ordering the objects
from shortest to longest.
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Select the box ordering the objects
Circle the object that is different from others. from longest to shortest.
34 3
- ’ = o
v
OHO E—'
-t )
© © (X 0
2| g = 2 °
() *
g O @ @ O o) ﬁ @ E v
o [ =4

96




What is the perimeter of the square?

Name the perimeter of the rectangle.
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Name the perimeter of the rectangle. Name the perimeter of the rectangle.
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2 em 2 em
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Name the perimeter of the square. What is the area of the entire figure?
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Name the perimeter of the square What is the area of the entire figure?
@ ! foot
1 ©
X 5 2 y b 12 square feet | 10 square feet | IS square feet
5 2
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Name the total area of the rectangle.

6 square cm.

3 square cm.

Circle all the cupcakes that show half.
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8 36 square cm. | 9 square cm. 18 square cm. %
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Name the total area of the rectangle.
2 square cm.
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How many rectangles are divided into halves? How many rectangles are divided into fourths?
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How many rectangles are divided into halves? How many shapes are divided into fourths?
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Which clock says 10:5?

10:15

What time is it?

; ; 9:00 | 5:00 | 6:00 | 12:00
Which clock says 1:H5?
: 2 oo [ 00 [12:00 [ 10:00
What time is it? What time is it?
°§ 8:30 | 6:30 | 9:30 | 5:30 E 315 | Si45 | w4is | 245
What time is it? What time is it?
§ :30 | 12:30 | 6:30 | 2:30 § s | 345 | 215 | 1215

136




What time is 117

What time is it?

(@2
pre] I}
5 745 | 10:45 | 945 | 8:HS c 9:05 149 110 9:10
E 137 = 138
What time is it? What time is 11?
2 ©
E’" 9:00 | W45 [0:15 | 12:45 - [1:10 [:95 12:55 | 10:10
= 138 = 140
If the show starts at 1:30 and ends 30
minutes later, what time does it end?
% § 30 minutes | 45 minutes | 60 minutes
E 141 ; 143
Ron came to my house at 3:00. Lily came 30 What is the elapsed time?
minutes later. What time did Lily arrive? —
[ o
~ o 30 minutes | 45 minutes | 60 minutes

142
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What is the elapsed time?

11 203
2
3

How many pennies are there?

10
9
-1
7

g 3

5 | hour | hour =
5 IS minutes 30 minutes K
&= 145 [

What is the elapsed time?
5 30 minutes | hour =
5 30 minutes E
o

146 s

How many dimes are there?
2 0 9 2
: | 3 HIERERE
os 149 o 151
2 2
e | 2 3 Y - 3 2 l
b ] -
a [ 4

150
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How many dimes are there?

What is the correct way to write 23 cents?

157

(o] (o]

E ['e]

g2 [y 3 2 | 5[ s [ 23¢ [ $23 | 2+3

E 153 E 155
How many quarters are there? What is the correct way to write 54 cents?

ey

¢ 2

Nl 3 2 | 0 Nl o4 $S4 | SOH¢ | SH¢

a 154 o 156
Which group is worth the most? Which group is worth more than 50 (o)

§ i @.\ 3
5 | quarter | quarter 5 e o {4(
5 | dime 3 pennies | nickel =

158

RIT 171

Which group is worth the most?

3 = 4“
Qe et

| dime
| nickel 6 pennies 3 dimes

158
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What is the missing number?
Ken has 5 pennies.

Jim has 2 dimes.

Alex has | quarter.

Ben has | nickel. I 213 |H

Who has the most money?

RIT 18I-190

Ken Jim Alex Ben

RIT >0
()
an
~
o

161 163

Finn has 10 pennies.
Jen has | dime.

Kat has | dollar. | 2134|5678
Rex has 9 nickels.
121131511617 1819|20

Who has the most money?

RIT 18I-190

Finn Jen Kat Rex 19 i q

RIT >0
o

162 164

What is the missing number? Look at the number on the chart.

What number is 10 more?

123 (4]5|6|7|8

RIT »H0

113/ MH[{IS|6117]18(19]20 H1121131M(I511617118]19]20
q 10 I 12 2 l 10 20 I

Look at the number on the chart.

What is the missing number?
What number is 10 less?

9110 1123|456 |7|8

19 |20 Wi12113 | |I5|16]17}18

RIT >MHO

20 10 l 0
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RIT 161170
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Look at the number on the chart.
What number is 10 more?

Look at the number on the chart.
What number is 10 more?

H112113(MM]15]16(1718]1920 1213|4567 |8

21|22{23| 24|25 |26 |27 |28 | 29 |30 {1213\ H|15|16]17(18

31132!33({34|35|36(37|38{39|40 21122123124]25|26(27 {28
s | 29 | 29 | 30 | 40 : [ 10 |30 |2 | 2
Look at the number on the chart. Look at the number on the chart.

What number is |10 more? What number is |0 more?
H11R2113[MHM|I5]16117 (181920 1234567 |8|9]I0
21 (22|23 | 24|25 2627|2829 |30 {1213 15116 |17 |18 19|20
31132133{34|35|36(37|38{3940 21122123124|25126(27|28(29|30

¢ | 35 | 26 | 25 15 g 5 15 16 25
Look at the number on the chart. Look at the number on the chart.

What number is 10 less? What number is 10 less?
Hi12113[M115116117]18(19(20 1213145678 9]I0
21 [22]23|24]25]26[27] 28 23| u]iE] e |17 ] ]a|20
31132{33/34/35|36|37|38 21122123124(125(26(27128{29|30

s | 40 | 39 | 30 | 20 s | 5 10 5 | 25
Look at the number on the chart. Look at the number on the chart.

What number is 10 less? What number is |0 less?
BRI 7 |18 [1a]20 i ]2l ls]ie]7]s]a]20
21 122|123 |24 | 27128(29|30 2112212312425 |26(27 28|29 %’;
31132|33(3435|36(37|38|39(40 31132133|34|35|36({37|38{3940

g 5 25 26 35 5 29 40 3| 20




What number comes in between?

24, _, 26

What number comes in between?

3, __, 33

o o
7 24 25 22 26 7 3l 33 32 34
E 177 E 178
What number comes in between? What number comes in between?
17, 19 19, 20 , 22
9 3
T 1) 16 |7 I8 F 2! 23 18 20
o "
pe] 178 =] 180
Jon is counting by I's. Pat is counting by I's.
He says |, 2, 3,4, 5. He says 6, 7, 8, G, 10.
What number comes next? What number comes next?
S Y 6 7 9 0] il 12
g e
& 5
- =
& 181 2 183
Kim is counting by I's. Kate is counting by I's.
She says 5, 6, 7, 8, 9. She says 10, 1i, 12, 13, M.
What number comes next? What number comes next?
0] Il 12 13 15 14 16 20
2 g
e C
& 182 e 184




Max is counting by 5's.
He says 9, 10, I5.
What number will he say nexi?

S |0 15 20

Jill is counting by 10’s.
She says 10, 20, 30, 40
What number will she say next?

40O 4l o0 60

2 2
& z
- -
= 185 . 187
Gus is counting by 5's. Nick is counting by 10's.
He says 10, 15, 20, 25 He says 10, 20, 30.
What number will he say next? What number will he say next?
30 35 25 26 3! 30 35 40O
2 2
c a
b 186 = 188
Which number comes next in the pattern? Complete the pattern
| O b q ) 8 3 7) S ) 6 ) 7’ )
9 2
= 7 6 8 9 z 6,5 | 910 87 | 8,49
E 189 E 191
Which number comes next in the pattern? Complete the pattern
15, 4, 13, 12, 8, 7 6, |,
2 2
T I 10 12 13 = 7,8 4156|4910
& 190 = 192




Complete the pattern

10, I, 12,

Place the numbers in order from

least to greatest.

6 8 7

% 13,4 110,912 | 4,16 % 6,87 | 876 | 6,78
Complete the pattern Place the numbers in order from
greatest to least.
6, 17,18, _, 4 10 12
?‘_ 17,18 | 17,16 |19, 20 | 16, 18 % 10,12, 14 | 4,12, 10 | 12, 10, H
Place the numbers in order from Which picture shows less than 5?
least to greatest.
LA O favay paval
6 7 TAVEN PANN vy paval
AVAY PN PavAY pava
% ,eé,7 | 771,13 | 6, 71 é é éé

199
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Place the numbers in order from

greatest to least.

0

15

10

15, 0, 10

15, 10, O

0,10, 15

198
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Which picture shows less than H?

V85

L
o

et
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Which picture shows less than 8?

Which picture shows more than 4?

&
=

8 @D@D@D@D

=
=
=

=

206

¥ ]
o« 201 o 203
Which picture shows less than 10? Which picture shows more than 57?
. :
= 202 o 204
Which picture shows more than 77 Count. How many?
e.“:__-—“‘-% 0“..‘.-..‘-.1.
0 = Q==
E g
- & Y S 6 7
& -
205 e 207
Which picture shows more than 10? Count. How many?
@ @ @
> & @y
o oS
B> B>
S 2
= B 6 3 ) Y
e« 5
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RIT 131-140

Count. How many?

EN_ & &
EN_ 0 &

Count. How many?

(&)
~
(oo
o)
RIT 131-140
a
(o)
~
o 0]

209

RIT 131-1M0

Count. How many? Count. How many?

1, ’

588
1L

o
o]
o)
~J
RIT 131-140
(o8]
~J
(0))
ul

210

RIT 13I-140

Count. How many? Count. How many?

FTTITTIT
Savav v

10 q 8 7

10 9 8 7

RIT 131140
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Count. How many? Count. How many?

S LS55
SL 8L

7 q 10 8

RIT 131-10
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an
(0))
~
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Count. How many? Count. How many?

it | il

RIT 13i-HO

~
(o]
o]
RIT 131-140
n
o))
~

217

Count. How many? Count. How many?

it || it Il

: s | 7 | s 2 s [ a | 10
Count. How many? Count. How many?
(XX XX P
eee6e
:§ I 12 13 = | 2 | 13
Count. How many? Count. How many?
00000 €000 QD
00000 0000
a [ 1o | =l o | 0 |




RIT 131-40

Count. How many?

00000 QQP
©eeee

10 If 12 13

RIT 131-H0

00000

00000

Count. How many?

it

17 15 4 16

RIT 131-40

Count. How many?

00000

i

020000

RIT 13140

Count. How many?

0000
000

@

RIT 13I-H0

Count. How many?

90000 00000
00000 00 |

20 19 18 \7

RIT 131-140

00000

00000

Count. How many?

00000
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How many butterflies are there?

RS

:o c’o (2] oo
e

TS %E
3

@9
(0
%0

&

Count. Which number word tells how many?

Smin &;
2 2
& I 5} 6 = six | eight | seven | nine
E 233 E 235
Count. Which number word tells how many?
How many cows have sungiasses on?
&,
“’v-
%‘ X %‘ I
el el
: 2
& 2 3 4 S z five ten nine six
= 234 = 236
?
Count. Which number word tells how many? Which box has an equal amount?
AN AN
R AV AT AN
SN SN
PN ~ N )
AR NS
5@ 5@ @ é@ 5@ Ty LU LY Ty LY
olololele = =T
® ® [ N
® © ® 0 ® © o e
o ® e
9 © 0 ® e .. ®
= |fifteen|sixteen| twelve | eleven c oo .
E 237 = 239
Count. Which number word tells how many? Which box has an equal amount?
Eﬁq ﬁ %& X\\?{Ax\‘lk Pavav: S~ Ax\;a
\ e \ \
2 5 AN
S8 8 & =
¢ e ®e ® e ® e
o ®®
e 2 ° s LK .
7| sixteen | thirteen |fourteen| twelve - e
fn &
[+ 4

40




Which box has an equal amount?

CRCRReNYe

Which box has an equal amount?

A e o NS
I
A

° ee *.° ® e
® o e o ® e Py ° e ® 33 e
w o.o ® ® ¢ w ™ © ® ® e e
2 ® ® 2 ® °
- ] - ) ® ® ®e
o= 241 &= 243
R
Which box has an equal amount? @j Which box has an equal amount? @d
® X ) ® ® ® o ®
® o oo %e ® X oo %
° ®0
X ® ® ° ® 2 S ) °e e
= ® = ee e o0
o [« =4
42 44
Choose the number word. Choose the number word.
2 2
= | eleven twelve | thirteen | fourteen £ | fourteen | sixteen | fifteen | thirteen
E 245 E 247
Choose the number word. Choose the number word.
2 2
= | fourteen | thirteen | twelve eleven +| fifteen sixteen |seventeen| fourteen
- -
& 246 &

248




Choose the number word.

|7

Choose the number word.

19

Q je)
+ | seventeen| sixteen | fourteen | eighteen 3| twenty ten eleven | nineteen
E 243 E 251
Choose the number word. Choose the number word.
2 2
#| nineteen | eighteen | eleven fifteen F ten twenty | fifteen twelve
E 250 E 252
Choose the number Choose the number
twenty-five seventy-one
g 2
= 25 S 20 205 z 70 17 7 70l
E 253 E 255
Choose the number Choose the number
fifty-six sixty-three
3 2
z o0 6 006 o6 = 63 36 60 16
- -
= 254 =t

256




Choose the number

ninety

Which animal comes before the % ?

G S
B
gl
| # v
z q 90 19 q9 T lig]
- -
el 257 ol 259
&
N
Which animal comes before the -. ?
Choose the number \'m
". A
N R aEA
- o GNEDR
forty-four @ o & &%
COR (2 “
AT
2l v | 40 |vo4 | ™ Z S !
- -
= 258 & 260
0, f o]
Which animal comes after the « ? How many tens are In this number?
' 29
= 8 [
by
~ , )
2 4; ) A 2
F e am ‘ < 7] l 2 3 H
. -
& 261 2 263
Which animal comes after the %2 ? How many tens are in this number?
2 2
T @ 2 3 Y )
- -
= 262 = 264




How many tens are in this number?

65

What number is in the ones place?

38

o o
@ ©
& 8 6 ) 3 & 38 39 3 8
- -
& 265 b= 267
How many tens are in this number? What number is in the ones place?
3 2
2 i | 2 12 o 0 2 10 20
& 266 P 268
i ?
What number is in the ones place® How many groups of 107
O
42 5 3
O
= O
2 2
5 2 20 Y HO e 10 o0 ) 6
E 269 E m
What number is in the ones place? How many groups of 10?
O
/4 "
a
3 2
s [ 7T 4] w s [ 3] 1 Jwo]|mn
oot 270 oo}
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How many groups of 10?

How many groups of 1007?

0 O 0
O 0
0
] O
O
O
2 R
B 10 | 30 3 S 100 10 | 6
- —
= 273 =l 275
How many groups of 10? How many groups of 100?
0
2 g
= | S o0 10 2 2 3 200 100
= 274 =2 276
Which box shows the number 13
How many in all?
using tens and ones blocks?
O
oo o o
[
g o o O
O o0 0 O
2 2
B & 403 4O HY 43
- -
=) 277 = 279
Which box shows the number 15
How many in all?
using tens and ones blocks?
[
O O
O O
O 0
O 0
O 0
2 2
: « [ 62 | 26 | 206 | 20
& 278 P

280




How many in all?

How many in ali?

(@] o
© =
o 9 1S 50 99 © 100 il [o]! o
E 281 E 283
How many in all? How many in all?
0O
O
O
O |
2 2
= 33 6 I3 63 2 23 203 230 320
= 282 = 284
Count the ones and tens. Count the ones and tens.
0o o
(]
0 0O o
[
3 | ten 3 tens 3 tens 0 tens 3 8 tens 8 tens Y tens Y tens
B 3 ones | one O ones 6 ones o 8 ones Y ones Y ones 8 ones
E 285 E 287
Count the ones and tens. Count the ones and tens.
-]
O a0
O
3 2 tens 2 tens S tens 20 tens ] | ten 0 tens | ten 10 tens
B 5 ones 2 ones 2 ones S ones T | one | one 0 ones O ones
E 286 E

288




Which is equal to | ten and 3 ones?

Which is equal to 2 tens and 5 ones?

thirteen ten seven three 592 25 20 7
3 2
& o
- -
& 289 et 201
Which is equal to | ten and O ones? Which is equal fo 3 tens and | one?

(o o
% eleven | twelve ten zero 2 13 il 2 3l
e &
- -
& 290 2 292

Choose the correct symbol. Choose the correct symbol.

g O
? - o1 9
. | ] 0 .
[

o o
T S —
& < = > 5 < = >
— —
Pl 293 P} 295

Choose the correct symbol. Choose the correct symbol.

O

O ? O ?

O
o (o]
= — = —_
2 [ < = > 2 [ < = >
= -
b=l 294 =l

296




Choose the correct symbol.

2 2 10

Choose the correct symbol.

q = |

8 2

& < = > & < = >

= 297 2 299
Choose the correct symbol. Choose the correct symbol.

o Q

s < = > s < = >

- -

& 298 pe 300
Choose the correct symbol. Choose the correct symbol.

(o] O

@ @

& < = > & < = >

- -

p] 301 = 303
Choose the correct symbol. Choose the correct symbol.

(@] Q

o < = > = < = >

: :

= 302 =
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Choose the box that makes this true. Choose the box that makes this true.

7 2 7 5 »

is is is is is is
2 greater equal less g greater equal less
B than to than B than to than
E 305 E
Choose the box that makes this true. Choose the box that makes this frue.
is is is is is is
3 greater equal less 3 greater equal less
E than to than :f than to than
= 306 =
What number is | more than 5? What number is | more than 127
U S A S S S S Tf1 12 13 14 15 16 17 18 19 20

RIT I5i-160

13 M

309

n

6)}

~4

(0 o)
RIT ISi-160

&}

What number is | more than 99 What number is | more than 187

€l

1
3 1 1 1 ] : Tl %
T

T 2 3 4 & € 3 & s 10 11 12 13 14 15 16 17 18 19 20

19

RIT 151-160

(o0
L0
o
RIT I51-160
0
(o0
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What number is | more than 25?

Gl
<

21 22 23 24 25 26 27 28 29 30

What number is | less than 107

A

(@] jo)
@ o
5 25 26 24 23 5 0] | q Il
E 313 E 315
What number is | more than 277 What number is | less than 77
21 22 23 28 25 26 27 28 23 30 "1 2 3 4 5 6 7 8 9 10
3 2
lf-"_ 28 27 26 25 % 6 I o) 8
2 314 2 316
What number is ! less than 157 What number is | less than 297
12 1314 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
2 2
& 15 16 | 4 B 29 2! 28 30
E 317 ":".; 319
What number is | less than 207? What number is | less than 307
T 12 13 115 16 17 18 19 20 “2t 22 23 24 25 26 21 28 29 30
2 3
B 19 20 [0] | & 30 29 28 27
E 318 E

320




Which number sentence

shows what happened?

Which number sentence

shows what happened?

<O Q
] )
z 8+2=10 H+4=8 z 2+6=8 2+4=6
E 321 E 323
Which number sentence Which number sentence
shows what happened? shows what happened?
m L1t
T TT Tt
0123454678 910 01 23 45467 8 %10
2 3+3=95 3+3=6 2 0+0=10 3+7=10
~ -
= 322 o 324
What is one more? What is one more?
2 2
F 3 Y 5) 6 F N 6 2 Y
- -
= 325 fe} 327
What is one less? w What is one less? ’}w
’ o
’ e
o000 08 000G 2000 Loo0 09 ’ -" ’ ’
: & & % B
body slioely oty Tl 7
o000 09 Y0000 _"
2 3
E q 7 ) 6 F 10 q 8 7
3 o
& 326 .
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+ | + 0
?;‘3 8 q | 10 % 0 2 10 |2
10 6
+ 0 + Y
[0 [0 |00 | [0 [ 6 | 4] 2
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: 8 | aa . 3 | 7 | w0
: 6 | 7 : g | 12 | 16
5 0 10
B -0
% ) 6 % {0 i 100
q-6 3
-2
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- 4 | w4 | s : s | 6 |
8 10
-0 -4
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| 12
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Start with three circles. Choose the ten

frame that will make a total of ten.

If you cover 3 dots, how many dots are left?

NN 111
__ 00000
e © ®
® o ®
e 0 0 ° 2
5 ) ® 5 q 8 7 6
- -
= 369 pre} 371
Start with six circles. Choose the ten frame If you cover 5 dots, how many dots are left?
that will make a total of ten.
©6 0606
©®
——— = éeeeece
® e ®
®e [ )
2 [ ® 2
5 ) 2 R 6 7 8
- —
& 370 ! 372
If you cover 2 dots, how many dots are left? Which model shows the addition sentence?
2 3
& 7 8 q 0] z
- -
= 373 o 375
{ ?
If you cover U dots, how many dots are left? Which model shows the addition sentence®
3+3
ee0ed =
O10|10101010
g 3
3 q 8 7 6 : O
- -
= 374 2 376




Which model shows the addition sentence?

SO+ 3

Which model shows the subtraction sentence?

6 -2

OlO010|010 XL
O|CIO|OIX | X[
3 3 ,
: | : OO0 X | K| X[
E ' 377 E 79
Which model shows the addition sentence? Which model shows the subtraction sentence?
2+4 S - |
oJfe [ellellellell )
O10|100101¢
[} Q B -
; : X X XX X[
= j
= 378 = 380
Which model shows the subtraction sentence? How many in all?
7-0
QOO
XIX X X X X X[ +
O O|O O1O10L QQ@
2 2
z OlO|CIO 0| K| K[ z 2 4 6 8
E 381 E 383
Which model shows the subtraction sentence? How many in all?
0 -HY
QOO
ofolclo[® ] +
ololololoh AV,
o Q
g ) ) I 2
= 382 =]

384




How many in all? What is 5 + 27
O QOO Q)
+ 4
VAVAVIY
& 6 8 Y 10 2 5 7 6 2
How many in all? @ What is 6 + 37 @
NAVIVIVIVANY @f@@ 2
+ G B L 2
i)
DOOOOD e =)
: 6 10 12 4 m 3 6 8 d

RIT HI-150

What is 7 + 37

389

RIT MI-150

391

RIT M1-150

What is 8 « 17

390

RIT MI-150

392




What number makes the number sentence true?

VANV AVINVAN,

2+ =39

What is the missing number?

0-__ =6

3 o Y 3 2 R 3 4 ) 6
What number makes the number sentence true? What is the missing number?
cfo. L0 o, o 00, Lo (010
BB BB B R S

3+ =7

S 8 6 4 2 S 2 4 6 8

What is the missing number? What is the missing number?
q - = 9 12 - =6
2 9 | 0 10 s 16 12 4 6
What is the missing number? What is the missing number?
7 - = L{ ‘Ll - = q
S x 2 3 4 S 5 9 I 3

400




What is the missing number?

8 + =10

What is the missing number?

q + = |8

3 2 10 8 Y : 8 q 10 18
What is the missing number? What is the missing number?
7+ =1 5+ =1
. 7 I 0 4 = 9 10 I 12
What is the missing number?
What is 12 - 2?
0+ =15
= 10 ) 8 15 = 12 10 8 2
What is the missi ber?
at is the missing number What is Il - [I?
I3+ =13
= 0 13 3 10 5 0 | 10 I

408




What is 10 - 77

What is 8 - 5?

O (o]
g 7 3 o | 2 13 8 5 3
— —
= 409 e 411
What is 14 - 4? What is 9 - 8?
g 2
2 Y 8 10 4 z 0 q | 8
- -
] 410 = 412
Look at the following expression: Look at the following expression:
H+ 2 3+ 2

Which expression gives the same answer? Which expression gives the same answer?
2 2
z |2-Y12=4|3+2]2+H4 = |3-215-213=2]2+3
E a13 E 415

Look at the following expression: Look at the following expression:
3+9 6+ 2

Which expression gives the same answer? Which expression gives the same answer?
2 b
: |5+3|5-3|3-5|5=5 s |8-6|8=6|2+6]6-2
— -
P 414 =

416




Look at the following expression:

2+9

Which expression gives the same answer?

Which is the related addition fact?

8+1=9

% 5_5 5+2 5_2 5 % ‘+q=8 q |+8=q
Which is the related addition fact?
Look at the following expression:
8 + | YH+7 =1l
Which expression gives the same answer?
2 2 N=7-4Yill=7+4|4+H4H=1Il
F 8 -1 8 |+8 | 8+8 T
= 118 E 420
Which is the related addition fact?
Start with 6.
Add O to it.
I0+0=10
The answer is 6.
i0 O0+10=10]10+1=10 The answer is more than 6.
Q (o]
% % The answer is less than 6.
Which is the related addition fact? Start with 10.
Add | to it.
8+5=13
The answer is 10.
The answer is more than 10.
; 5-3-8 13+8=1515+8-13 é The answer is less than 10.

424




Start with 8.
Subtract | from it.

The answer is 8.

The answer is more than 8.

Which rule tells how to find the answers?

(97 Io) B N ]
i

ar N
u

o O O

#

A number minus itself equals the same number.

A number plus itself equals O.

Q o
v 2
B The answer is less than 8. B A number minus itself equals O.
E 425 E a7
Start with 12. Which strategy helps how to find the answers?
Subtract O from it.
3+3=6
H+Y4=18
5+5=10
The answer is 12.
Making Ten
The answer is more than |12, Doubles Facte
je] O
) @
= The answer is less than 12, & Doubles + |
5 426 5 a8
Jaydin has 5 pencils. Megan has 8 stickers.
He gives away 3. She gives away 5.
How many pencils does Jaydin have now? How many stickers does Meg have now?
2 2
& o 3 Y 2 5 | ) 3 H
= o
o 429 o 431
Pete has 6 apples. Dan has 7 games.
He eats 2. He plays 6 of them.
How many apples does Pete have now? How many games does he have left to play?
3 8
& Y 3 2 | & 7 6 o) I
= —
el 430 o} 432




Ashton has 10 books.
He reads 5 of them.
How many books does he have left to read?

There is | cat sleeping. S5 cats are eating.
How many cats are there in all?

There are cats.

3 2
5 S 10 8 2 =z | ) 6 7
- =
o 433 o 435
There are Y girls and Y boys.
Jake has 9 cupcakes. How many children are there?
He gives away 6. There are children.
How many cupcakes does Jake have left?
2 2
o ) 3 6 9 % Y 6 8 10
- -
2 434 e, 436
i2 children are at a birthday party. Max picked 25 pink flowers. Then he picked
2 more children join them. some yellow flowers. He picked Yl flowers in
How many children are at the party now? all. How many yellow flowers did Max pick?
2 2
2 2 10 12 ) 5 Hi 25 16 66
& 437 & 439
il dogs were at the park. Dora passed out IH cookies to her class on Monday.
S more dogs joined them. On Friday, she passed out 14 more cookies. How
How many dogs at the park now? many total cockies did Dora pass out?
$7o
o © /
o
< e
& 16 I 6 ) & 4 22 28 0
- -
2 438 = 440




Which symbol goes in the box

to make the number sentence true?

W
@W@Q

HIARER

IRl

RIT 151-160
+

i
D

Which symbol goes in the box

to make the number sentence true?

SRS
SR
&)

9
&)

OB

P9e0

RIT ISI-160
+
i

Which symbol goes in the box

to make the number sentence true?

s

3

s @

%

%

5. %5
Y Y

Which symbol goes in the box

to make the number sentence true?

£ &
&

&
&

JR-9-¥-
-

2 2
L:F'l_a + = 9 lZ" + - = 9
o =
= 242 =i 444
Which symbol goes in the box Which symbol goes in the box
to make the number sentence true? to make the number sentence frue?
2 2
E-L + = 9 QJ_ + - = 9
= [
o 445 o 447
Which symbol goes in the box Which symbol goes in the box
to make the number sentence true? to make the number sentence true?
2 2
B + = ? B + - = ?
= 5
o 446 [ 448




Complete the addition

sentence.

il "
LN

Complete the addition sentence.

10

il
o

g 2

§ 0 | 4 5 3 7 10 l

- o

o 449 o 451

Complete the addition senfence.

g 3

s 2 3 6 s 0 | 4 8

- -

= 450 b 452
Complete the addition sentence. Complete the addition sentence.

R g

© 0 l 10 © 12 16 8 Y

= o

o 453 o 455
Complete the addition sentence. Complete the addition sentence.

R g

© 15 10 0 © M 1l 3 7

- -

= 454 =] 456




Complete the subtraction sentence.

8 +

10

Complete the subtraction sentence.

9

g R
© 2 6 8 10 © 7 q I
- —
& 457 & 459
Complete the addition sentence. Complete the subtraction sentence.
6 + = 6 + = 7
8 2
o q 15 3 6 s 0 6 7
= -
& 458 o 460
Complete the subtraction sentence. Complete the subtraction sentence.
7 + = 0+ = 10
g g
© 0 7 10 M s 0 10 )
o -
-4 461 [+ 4 463
Complete the subtraction sentence. Complete the subtraction sentence.
10+ = |2 + = 13
[ g
3 T IV B T s | 1 4 | 3
& 462 E 464




22
|/

+ 13 +
E 28 | 38 | 18 E 37 | 38 | 39
+ :g + %g
: o | 16 | 26 ::; 23 | 46 | 39
200 + 50 = 400 + 4O =
é 200 | 25 | 250 [20050 5 440 | 444 | 400 | 4000
300 + 10 = 100 + 80 =
é 3010 | 300 | 301 | 310 : 10080 | 1080 | 180 | 800




el = 25 + 22 =

% HIFEERERE 2 252 | 2 | W7 | 72|
20 + 7 = I3 +13 =

;; 20 [ 27 [ 72 Ja07] % B | B | % |2 |
5 + 1Y = 3+3+3

E o 29 [ s s | z ¥ 13| 318 |
10 + 28 = 14345

% 3 [ 18 [ 28 | 32 | é LA MLV I

480




How many wheels does Y bikes have?

141-150

7 +1+2
% I 2 7 10 § 8
6+95+3
§ 7 8§ | 10 | M § 2 | 1o | 3
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Thank you very much for downloading my product!
1 hope you enjoy it ¢ it helps your students learn ©
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This product may have included graphics from these amazing artists ¥
Please follow the links Yo check out their work!
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Whimsy Doodle Graphics
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